
Write the factors of the following 
monomials: 

(1) 7p 
(2) 6m 
(3) 9xy 
(4) 22ab 
(5) p2q 
(6) 1 Oxy2 
(7) 5a2 
(8) 15m2n 
{9) 30a2b2 
(10) 12x2 

ANSWER: 

(1) 7p 
=7xp 
Hence, factors of 7 p are 7 and p. 

(2) 6m 
=2x3xm 
Hence, factors of 6m are 2, 3 and m. 



(4) 22ab 
=2x11 xaxb 
Hence, factors of 22ab are 2, 11, a and b. 

(5) p2q 
=pxpxq 
Hence, factors of p2q are p, p and q. 

(6) 1 Oxy2 
=2x5xxxyxy 
Hence, factors of 1 Oxy2 are 2, 5, x, y and y. 

(7) 5a2 
=5xaxa 
Hence, factors of 5a2 are 5, a and a. 

(8) 15m2n 
=3x5xmxmxn 
Hence, factors of 15m2n are 3, 5, m, m and 
n. 

(9) 30a2b2 
=2x3x5xaxaxbxb 
Hence, factors of 30a2b2 are 2, 3, 5, a, a, b 
and b. 

(10) 12x3 
=2x2x3xxxxxx 
Hence, factors of 12x3 are 2, 2, 3, x, x and 
X. 



Find the common factors of the following 
monomials by inspection only. 

(1) 6m2n2, 1 Om2n 
(2) 38a3b2, 57ab2 
{3) 11 x2y3, xY-
(4) 35p2q2-r, 40p3q2-, 50pq2-r 
(5) 15x3y3, 39x2z2, 48xj2-z3 

ANSWER: 

(1) 6m2n2, 1 Om2n 
The highest common factor of 6 and 1 O is 
2 
Common factor of m2 and m2 is m2 
Common factor of n2 and n is n 
Hence, the common factor of the 
monomial 6m2n2and 1 Om2n is 2m2n 

(2) 38a3 Ji2, 57 ab2 
The highest common factor of 38 and 57 
is 19 
Common factor of a3 and a is a 
Common factor of Ji2 and Ji2 is Ji2 
Hence, the common factor of the 
monomial 38a3b2and 57 ab2 is 19ab2-

(3) 11 x2y3, xY-
ThP hinhest common factor of 11 and_l is 



(3) 11 x2y3, xy2-
The highest common factor of 11 and 1 is 
1 
Common factor of x2 and xis x 
Common factor of y3 and y2- is y2-
Hence, the common factor of the 
monomial 11 x2y3 and xy2- is 1 xy2- = xy2-

(4) 35p2q2-r, 40q3F, 50pcj2-r 
The highest common factor of 35, 40 and 
50 is 5 
Common factor of p2, pO and pis pO = 1 
Common factor of q2, q3 and q2- is q2-
Common factor of r, F and r is r 
Hence, the common factor of the 
monomial 35p2q2-r, 40q3F and 50pcj2-ris 5 
q2r 

(5) 15x3y3, 39x2z2, 4Bxy2-z3 
The highest common factor of 1 5, 39 and 
48 is 3 
Common factor of x3, x2 and xis x 
Common factor of y3, ;D and y2- is yJ = 1 
Common factor of tJ, z2 and z3 is fJ = 1 
Hence, the common factor of the 
monomial 15x3y3, 39x2z2 and 4Bxy2-z3 is 3x 
{1) {1) = 3x 



Factorise: 

(1) 4a + Bb 

ANSWER: 

4a+ Bb 
4a = 2 x 2 x a - -
Bb = 2 x 2 x 2 x b - -
Here, 2 and 2 are the common factors of 
the given terms. 
Hence, 4a + Bb = 2 x 2 (a+ 2 x b) 
= 4(a + 2b) 



Factorise: 

(2) Sm+ 1 Sn 

ANSWER: 

Sm+ 1Sn 
Sm= S x m -
1 Sn= 3 x S x n -
Here, S is the common factor of the given 
terms. 
Hence, Sm+ 1 Sn = S (m + 3 x n) 
= S (m+ 3n) 



Factorise: 

(3) abp- abq 

ANSWER: 

abp- abq 
abp = a. x b. x p 
abq = a. x b. x q 
Here, a and bare the common factors of 
the given terms. 
Hence, abp - abq = ax b (p - q) 
= ab (p- q) 



Factorise: 

(4)x2 +x3 

ANSWER: 

x2 + x3 
x2 = XX X - -
x3=xxxxx - -
Here, x and x are the common factors of 
the given terms. 
Hence, x2 + x3 
= xx x(1 + x) 
= x2 (1 + x) 



Factorise: 

(5) mnx+ mny 

ANSWER: 

mnx+ mny 
mnx= mx nx x - -
mny = m x l1. x y 
Here, m and n are the common factors of 
the given terms. 
Hence, mnx+ mny= m x n (x+ y) 
= mn(x+ y) 



Factorise: 

{6) 4x2y+ 3x_y2 

ANSWER: 

4x2y+ 3x_y2 
4x2y = 2 x 2 x K x xx Y. 
3x_y2 = 3 x K x Y. x y 
Here, x and y are the common factors of 
the given terms. 
Hence, 4x2y+ 3xy2 = xx y(2 x 2 xx+ 3 x 
y) 
= xy(4x+ 3y) 



Factorise: 

(7) 15p2-q - 20q 

ANSWER: 

15p2-q- 20q 
15p2-q=3x~xpxpxg 
2Qq = 2 X 2 X ~ X g 
Here, 5 and q are the common factors of 
the given terms. 
Hence, 1 5p2-q - 20q = 5 x q (3 x p x p - 2 x 
2) 
= Sq (3p2- - 4) 



Factorise: 

(8) a2bc + abc2 

ANSWER: 

a2bc+ abc2 
a2bc = ax a x bx c - - -
abc2 = a x b x c x c - - -
Here a, band care the common factors of 
the given terms. 
Hence, a2bc+ abc2 =ax bx c (a+ c) 
= abc (a+ c) 



Factorise: 

{9) 18m2n - 27 m3 

ANSWER: 

18m2n- 27m3 
1 8m2n = 2 x 3 x 3 x m x m x n - - - -
27m3 = 3 x 3 x 3 x m x m x m - - - -
Here 3, 3, m and mare the common 
factors of the given terms. 
Hence, 1 8m2n - 27 m3 = 3 x 3 x m x m {2 x 
n- 3 x m) 
= 9m2 (2n - 3m) 



Factorise: 

(10) 24p3q2 + 28p2q3 

ANSWER: 

24p3q2 + 28p2q3 
24p3q2 = _2 X _2 X 2 X 3 X J2 X J2 X p X g X g 
28p2q3 = _2 X _2 X 7 X J2 X J2 X g X g X Q 

Here 2, 2, p, p, q and q are the common 
factors of the given terms. 
Hence, 24p3q2 + 28p2q3 = 2 x 2 x p x p x q 
X Q (2 X 3 X p + 7 X Q) 
= 4p2q2 (6p + 7 q) 
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